ON SUMMABILITY FACTORS

by Pramila Srivastava, Department of Mathematics, Allahabad University

(Communicated by B. N. Prasad, F.N.I.)

(Received December 23, 1957; read January 5, 1958)

1.1. Given the improper Stieltjes integral of f(x), with respect to $\alpha(x)$, in the infinite interval (a, ∞) , viz.

(1.1)
$$\int_{a}^{\infty} f(x) d\alpha(x) = \lim_{R \to \infty} \int_{a}^{R} f(x) d\alpha(x),$$

its (C, k) mean is defined by the equation

$$C_k(\omega) = \int_{-\infty}^{\infty} (1 - x/\omega)^k f(x) \, d\alpha(x),$$

where k > -1.

The integral (1.1) is said to be summable (C, k) to the sum s if

$$\lim_{\omega \to \infty} C_k(\omega) = s \text{ (see Hardy, 1949, p. 111)}$$

and if

$$C_k(\boldsymbol{\omega}) = O(1),$$

as $\omega \to \infty$, the integral is said to be bounded (C, k).

Again, if $C_k(\omega)$ is of bounded variation in (h, ∞) , where h may be any finite positive number, that is to say if

$$\int_{a}^{\infty} \left| dC_{k}(\omega) \right| < \infty ,$$

we say that the integral (1.1) is absolutely summable (C, k), or simply summable (C, k) (see Bosanquet, 1947 and 1948).

And, if

$$\int_{k}^{\omega} |C_{k-1}(x) - s| dx = o(\omega),$$

we say that the integral is strongly summable (C, k), or simply summable [C, k] to sum s; while if

$$\int_{1}^{\omega} \left| C_{k-1}(x) \right| dx = O(\omega),$$

we say that the integral is bounded [C, k]; k > 0. For k = 0, if the integral is summable (or bounded) (C, 0) and

$$\int_{a}^{\omega} x |f(x) \, d\alpha(x)| = o(\omega) \text{ (or } O(\omega)),^*$$

we say that the integral is summable (or bounded) [C, 0].

We observe that if, in particular, $\alpha(x)$ is a step function defined as follows:

$$\alpha(x) = 0, \text{ for } a \le x \le x_0,$$

$$= a_0 + a_1 \dots + a_n, \text{ for } x_n < x \le x_{n+1},$$

$$a \le x_0 < x_1 \dots < x_n \to \infty;$$

where

the integral (1.1) may become an infinite series, that is to say

$$\int_{a}^{\infty} f(x) \, d\alpha(x) = \sum_{n=0}^{\infty} a_n f(x_n) \text{ (Widder, 1941, p. 15)}.$$

A sequence $\{\lambda_n\}$ of positive steadily increasing numbers tending to infinity, determines Riesz means $x^{-k}A_{\lambda}^{k}(x)$ of order k type λ , for a series of complex numbers Σa_n ; the means being defined by the equation

$$C_{\lambda}^{k}(x) = x^{-k} A_{\lambda}^{k}(x) = \sum_{\lambda_{n} < \omega} (1 - \lambda_{n}/x)^{k} a_{n}$$

$$= \int_{0}^{x} (1 - s/x)^{k} dC_{\lambda}^{0}(s)$$
where $k \ge 0$.

If

(1.2)

$$C_{\lambda}^{k}(x) = O(1),$$

as $x \to \infty$, the series Σa_n is said to be bounded (R, λ, k) ; and if

$$\lim_{x\to\infty} C_{\lambda}^{k}(x) = s,$$

where s is finite, the series is said to be summable (R, λ, k) to sum s.

If $C_{\lambda}^{k}(x)$ is of bounded variation in (h, ∞) , the series is said to be summable

The definition (1.2) is still applicable for negative k, k > -1. extension, if

$$\int_{0}^{\omega} \left| C_{\lambda}^{k-1}(x) \right| dx = O(\omega),$$

the series is said to be bounded $[R, \lambda, k]$, and if

$$\int_{\lambda}^{\omega} \left| C_{\lambda}^{k-1}(x) - s \right| dx = o(\omega),$$

^{*} The lower limit h may be any finite positive number. From now on in such cases we omit the lower limit.

the series Σa_n is said to be summable $[R, \lambda, k]$ to sum s, k > 0. If the series be convergent (or bounded) and

$$\int_{-\infty}^{\omega} x \left| dC_{\lambda}^{0}(x) \right| = o(\omega) \text{ (or } O(\omega)),$$

then it is said to be summable (or bounded) $[R, \lambda, 0]$.

2.1. Summability $|R, \lambda, k|$ is known to include summability $[R, \lambda, k]$ (Srivastava, 1957, Theorem 9) and this fact is written as

$$[R, \lambda, k] \subset [R, \lambda, k].$$

The following inclusion relations also hold

$$[R, \lambda, k] \subset (R, \lambda, k),$$

$$(R, \lambda, k-1) \subset [R, \lambda, k]$$
 (Srivastava, 1957, Theorems 1 and 2).

The above two relations are true for boundedness, as well, in place of summability. Winn (1933) has given an example to show that there are series bounded [C, k], summable (C, k), but not summable [C, k]. The same example goes to show that there are series bounded [C, k] but not bounded (C, k-1), that is to say that there are series bounded $[R, \lambda, k]$ but not bounded $(R, \lambda, k-1)$.

It is, further, known that there are series summable (R, λ, k) but not summable absolutely for any order whatsoever (Kogbetliantz, 1925). The summability factor problem, that naturally arises, is to find a sequence $\{f_n\}$ such that if the series Σa_n is summable (R, λ, k) , then the series $\Sigma a_n f_n$ may be absolutely summable for some order, say k+1. Several theorems, in connection with this problem, have been obtained, both for an infinite series in general, and in case of Fourier series and also the series conjugate to it in particular. In the present paper we consider this problem for general infinite series. We obtain here two theorems on summability factors involving Stieltjes integral, and then give certain deductions from these.

2.2. While dealing with the problem of obtaining absolute summability from ordinary summability with the help of summability factors, Bosanquet (1948) stated the following theorem involving Stieltjes integral from which, as is evident from the definitions, corresponding theorem for Riesz summability of infinite series can be deduced.

Theorem A. If $\lambda > 0$ and is an integer (i) k(x) is continuous for x > 1 and

(ii)
$$\int_{1}^{\infty} x^{-1} |k(x)| dx < \infty$$
,

(iii)
$$\int_{1}^{\infty} x^{\lambda} \left| dk^{(\lambda)}(x) \right| < \infty ,$$

and if

$$\int_{1}^{x} d\phi(t) = O(1)(C, \lambda),$$

as $x \to \infty$, then

$$\int_{1}^{\infty} k(x) \, d\phi(x)$$

is summable $|C, \lambda+1|$.

Recently Borwein (1954) extended this theorem to general λ . Theorem 1 of the present paper, giving a summability factor k(x) such that summability $|C, \lambda|$ of the factored integral follows from summability $[C, \lambda]$ of a given integral, is similar to it; and for a large class of functions k(x), as can be easily seen, Theorem A can be deduced from Theorem 1. A start in this direction, that of obtaining absolute summability from strong summability of the same order, was made by Pati (1954). He proved:

Theorem B. If Σa_n is summable [C, 1], and $\{\lambda_n\}$ is a convex sequence such that the series $\Sigma n^{-1}\lambda_n$ is convergent, then $\Sigma a_n\lambda_n$ is summable [C, 1].

Theorem 2 is a generalization of Theorem 1, still in another direction, in the sense that in it the hypothesis of strong boundedness is replaced by strong asymptotic estimate of the given integral. Theorems 3 to 5 concern summability factors of infinite series—Theorem 3 giving, in particular, the extension of Theorem B to general positive orders, since summabilities [R, n, k] and [R, n, k] are equivalent to summabilities [C, k] and [C, k] respectively (Boyd and Hyslop, 1952; Srivastava, 1957; Hyslop, 1936).

3.1. Theorem 1. If $\lambda \geqslant 0$ and

$$\int_{-\infty}^{\infty} d\alpha(x) = O(1) [C, \lambda],$$

$$\int_{-\infty}^{\infty} k(x) d\alpha(x) \text{ is summable } |C, \lambda|,$$

then

where

(i) k(t) is a continuous function,

(ii)
$$\int_{-\infty}^{\infty} |k(t)| t^{-1} dt < \infty,$$

and (a) when \(\lambda\) is an integer

(iii)
$$\int_{-\infty}^{\infty} t^{\lambda} |dk^{(\lambda)}(t)| < \infty;$$

(b) when λ is not an integer

(iii')
$$\int_{-\infty}^{\infty} t^{[\lambda]+1} \mid dk^{([\lambda]+1)}(t) \mid < \infty,$$

where $[\lambda]$ is the greatest integer less than λ , and

(iv) |k'(t)| is a monotonic non-increasing function of t.

Theorem 2. If $\lambda > 0$ and

$$\int_{-\infty}^{\infty} d\alpha(x) = O\{\chi(x)\} \ [C, \lambda],$$

where $\chi(x) \to \infty$, as $x \to \infty$, and

$$\chi'(t) = O\{\chi(t) t^{-1}\},$$

then

$$\int_{-\infty}^{\infty} k(x) \ d\alpha(x)$$

is summable $|C, \lambda|$, where

(i) k(t) is a continuous function,

(ii)
$$\int_{-\infty}^{\infty} t^{-1} |k(t) \chi(t)| dt < \infty,$$

and (a) when λ is an integer

(iii)
$$\int_{-\infty}^{\infty} t^{\lambda} |\chi(t)| dk^{(\lambda)}(t)| < \infty,$$

(b) when λ is not an integer

(iii')
$$\int_{-\infty}^{\infty} t^{[\lambda]+1} |\chi(t)| dk^{([\lambda]+1)}(t)| < \infty,$$

and

(iv) |k'(t)| is a monotonic non-increasing function of t.

3.2. We require the following lemmas for the proofs of Theorems 1 and 2.

Lemma 1.* If k(t) is a continuous function of t such that

$$(i) \int_{-\infty}^{\infty} t^{-1} |k(t)| dt < \infty,$$

and

(ii)
$$\int_{-\infty}^{\infty} t^n |dk^{(n)}(t)| < \infty,$$

then

$$\int^{\infty} t^r |dk^{(r)}(t)| < \infty,$$

for $r = 0, 1, 2, \ldots, n-1$, and hence also

$$|t^r k^{(r)}(t)| < \infty,$$

for $r = 0, 1, 2, \ldots, n-1$.

Proof of the Lemma. From (ii) it follows that

$$\int_{c}^{\infty}dk^{(n)}(t)$$

is convergent. Therefore there is a number l such that, for $t \ge c$,

$$k^{(n)}(t)-l = -\int_{t}^{\infty} dk^{(n)}(t)$$

= $o(1)$,

as $t \to \infty$. If n = 0, we have

$$l = \lim_{t \to \infty} k(t),$$

and hence

$$|k(t)| < \infty$$
.

^{*} See Borwein (1954), section 5. The Lemma is implicit in the analysis given there.

For n > 1,

$$l = \lim_{t \to \infty} nt^{-n} \int_{-\infty}^{\infty} (t-u)^{n-1} k^{(n)}(u) \ du$$
$$= \lim_{t \to \infty} n! \ t^{-n} k(t).$$

In either case we deduce from the convergence of $\int_{-\infty}^{\infty} t^{-1} |k(t)| dt$ that l = 0. Now

$$\int_{-\infty}^{\infty} t^{n-1} |dk^{(n-1)}(t)| = \int_{-\infty}^{\infty} t^{n-1} |k^{(n)}(t)| dt$$

$$\leq \int_{-\infty}^{\infty} t^{n-1} dt \int_{-t}^{\infty} |dk^{(n)}(u)|$$

$$\leq 1/n \int_{-\infty}^{\infty} u^{n} |dk^{(n)}(u)|$$

$$< \infty,$$

by hypothesis (ii). This gives the first part of the Lemma. To deduce the second part, we observe that

$$d/dt \left\{ t^r k^{(r)}(t) \right\} = r t^{r-1} k^{(r)}(t) + t^r \frac{d}{dt} k^{(r)}(t).$$

Integrating and applying the first part of the Lemma we obtain

$$t^r k^{(r)}(t) = O(1),$$

as $t \to \infty$, for $r = 1, 2, \ldots, n-1$. That

$$k(t) = O(1),$$

follows from

$$\int_{0}^{\infty} |dk(t)| < \infty,$$

proved in the earlier part.

Lemma 2. If k(t) is a continuous function of t such that

(i)
$$\int_{-\infty}^{\infty} t^{-1} |k(t)\chi(t)| dt < \infty,$$

(ii)
$$\int_{-\infty}^{\infty} t^n |\chi(t)dk^{(n)}(t)| < \infty,$$

 $\chi(t) \rightarrow \infty$ and

$$\chi'(t) = O\{\chi(t), t^{-1}\},$$

as $t \to \infty$, then

$$\int_{-\infty}^{\infty} t^r |\chi(t)dk^{(r)}(t)| < \infty,$$

and hence also

$$|t^r\chi(t)k^{(r)}(t)|<\infty,$$

for $r = 0, 1, 2, \ldots, n-1$.

Proof of Lemma 2. When n = 0,

$$\frac{d}{dt}\left\{\chi(t)k(t)\right\} = \chi(t)\frac{d}{dt}k(t) + k(t)\chi'(t)$$

$$= \chi(t)\frac{d}{dt}k(t) + k(t)O\left\{\chi(t).\ t^{-1}\right\}.$$

Integrating and applying hypotheses (i) and (ii) we get the result. For n > 0, since

$$\int_{-\infty}^{\infty} t^{n} |\chi(t)dk^{(n)}(t)| < \infty,$$

and $\chi(t) \to \infty$, as $t \to \infty$,

$$\int_{-\infty}^{\infty} dk^{(n)}(t)$$

is convergent. Also, since $\chi(t) \to \infty$, and

$$\int_{-\infty}^{\infty} t^{-1} | \chi(t)k(t) | dt < \infty,$$

it follows that

$$\int_{-\infty}^{\infty} t^{-1} |k(t)| dt < \infty.$$

From (ii), since $\chi(t) \to \infty$ and

$$\int^{\infty} dk^{(n)}(u)$$

is convergent, we obtain that there is a number l such that

$$k^{(n)}(t) - l = -\int_{t}^{\infty} dk^{(n)}(u) = o(1),$$

as $t \to \infty$. Also

$$l = \lim_{t \to \infty} nt^{-n} \int_{-\pi}^{t} (t-u)^{n-1} k^{(n)}(u) du$$
$$= \lim_{t \to \infty} n! t^{-n} k(t).$$

Hence, from the convergence of

$$\int^{\infty} t^{-1} |k(t)\chi(t)| dt,$$

we deduce that l = 0, for n > 1. Now

$$\int_{-\infty}^{\infty} t^{r} |\chi(t)dk^{(r)}(t)| < \int_{-\infty}^{\infty} |t^{r}\chi(t)| dt \int_{-t}^{\infty} |dk^{(r+1)}(u)|$$

$$= \int_{-\infty}^{\infty} |dk^{(r+1)}(u)| \int_{-t}^{u} |\chi(t)t^{r}| dt,$$

where

$$\int_{-u}^{u} t^{r} |\chi(t)| dt = O\{u^{r+1}\chi(u)\}.$$

And therefore

$$\int_{-\infty}^{\infty} t^{r} |\chi(t)dk^{(r)}(t)| = O \int_{-\infty}^{\infty} u^{r+1} |\chi(u)| dk^{(r+1)}(u)|$$

$$= \dots \dots$$

$$= O \int_{-\infty}^{\infty} u^{n} |\chi(u)dk^{(n)}(u)|$$

$$< \infty,$$

for $r = 0, 1, \ldots, n-1$.

For the second part we have

$$\frac{d}{dt} \left\{ t^r \chi(t) k^{(r)}(t) \right\} = r t^{r-1} \chi(t) k^{(r)}(t) + t^r \chi'(t) k^{(r)}(t) + t^r \chi(t) \frac{d}{dt} \left\{ k^{(r)}(t) \right\}.$$

It is given that

$$\chi'(t) = O\{\chi(t) \cdot t^{-1}\}.$$

Hence, integrating and applying the first part of the Lemma,

$$|t^r\chi(t)k^{(r)}(t)|<\infty,$$

for r = 0, 1, ..., n-1.

Lemma 3. Let $\lambda > 0$, then

$$\begin{split} \frac{d}{d\omega} \left\{ \omega^{-\lambda} \int_{0}^{\omega} (\omega - t)^{\lambda} k(t) d\alpha(t) \right\} \\ &= \lambda \omega^{-\lambda - 1} k(\omega) \overline{C}_{\lambda}(\omega) + \frac{\Gamma(\lambda + 1)}{\Gamma(h + 1) \Gamma(\lambda - h - 1)} \omega^{-\lambda - 1} \int_{0}^{\omega} \overline{C}_{h + 1}(t) \left\{ k(t) - k(\omega) \right\} \times \\ &(\omega - t)^{\lambda - h - 2} dt + \frac{\omega^{-\lambda - 1}}{\Gamma(h + 2)} \sum_{r = 1}^{h + 1} (-1)^{h + 1 - r} \binom{h + 1}{r} \frac{\Gamma(\lambda + 1)}{\Gamma(\lambda - h + r - 1)} \times \\ &\int_{0}^{\omega} \overline{C}_{h + 1}(t) k^{(r)}(t) (\omega - t)^{\lambda - h + r - 2} dt, \end{split}$$

where

$$\overline{C}_r(\omega) = \int^{\omega} (\omega - t)^{r-1} t d\alpha(t),$$

h denotes the greatest integer less than λ , for $0 < \lambda \le 1$, h is defined to be zero, and when λ is an integer the second term of the expression on the right is zero.

Proof of Lemma 3.

$$\begin{split} \frac{d}{d\omega} \left[\omega^{-\lambda} \int_{0}^{\omega} (\omega - t)^{\lambda} k(t) d\alpha(t) \right] \\ &= \lambda \omega^{-\lambda - 1} \int_{0}^{\omega} (\omega - t)^{\lambda - 1} t k(t) d\alpha(t) \end{split}$$

$$\begin{split} &=\lambda\omega^{-\lambda-1}k(\omega)\overline{C}_{\lambda}(\omega)+\lambda\omega^{-\lambda-1}\int_{0}^{\omega}\left\{k(t)-k(\omega)\right\}(\omega-t)^{\lambda-1}td\alpha(t)\\ &=\lambda\omega^{-\lambda-1}k(\omega)\overline{C}_{\lambda}(\omega)+(-1)^{h+1}\frac{\lambda}{\Gamma(h+1)}\omega^{-\lambda-1}\times\\ &\int_{0}^{\omega}\overline{C}_{h+1}(t)D^{h+1}\big[\left\{k(t)-k(\omega)\right\}(\omega-t)^{\lambda-1}\big]dt, \end{split}$$

by partial integration h+1 times. Now

$$\begin{split} D^{h+1} \big[\big\{ k(t) - k(\omega) \big\} (\omega - t)^{\lambda - 1} \big] &= (-1)^{h+1} \frac{\Gamma(\lambda)}{\Gamma(\lambda - h - 1)} (\omega - t)^{\lambda - h - 2} \big\{ k(t) - k(\omega) \big\} \\ &+ \sum_{r = 1}^{h+1} (-1)^{h+1-r} \binom{h+1}{r} \frac{\Gamma(\lambda)}{\Gamma(\lambda - h + r - 1)} k^{(r)}(t) (\omega - t)^{k-h+r-2}, \end{split}$$

the first term of the expression on the right being zero when λ is an integer. The Lemma follows upon substituting this expression for

$$D^{h+1}\lceil \{k(t)-k(\omega)\}(\omega-t)^{\lambda-1}\rceil$$

in the integrand.

Lemma 4. (i) If

$$\int_{-\infty}^{\infty} d\alpha(x) = O(1)[C,\lambda],$$

then

$$\int_{-x^{l}}^{x} \frac{\left|\overline{C}_{l}(x)\right|}{x^{l}} dx = O(x),$$

as $X \to \infty$, for $l \ge \lambda$; (ii) if

$$\int_{-\infty}^{\infty} d\alpha(x) = O\{\chi(x)\}[C,\lambda],$$

then

$$\int_{-X^{l}}^{X} \frac{|\overline{C}_{l}(x)|}{x^{l}} dx = O\{X\chi(X)\},\,$$

as $X \to \infty$, for $l > \lambda$, where $x \chi(x)$ or $x^k \chi(x)$, according as $k \geq 1$, tends to infinity with x and

$$\chi'(x) = O\{\chi(x) \cdot x^{-1}\}$$
.

The first part of the above Lemma has been proved elsewhere (Srivastava, 1957; §5), the second part can be obtained in a similar fashion.

3.3. Proof of Theorem 1. Firstly, we observe that

$$x^{-l}\overline{C}_l(x) = x \frac{d}{dx} \{C_l(x)\};$$

therefore, by Lemma 4 (i), under the hypothesis,

$$\int_{-\infty}^{X} x dx \left| \frac{d}{dx} C_l(x) \right| = O(x),$$

as $X \to \infty$, where $l > \lambda > 0$.

It is to be proved that

$$\int^{\infty} |dF(x)| < \infty,$$

that is to say that

$$\lim_{X\to\infty}\int_{0}^{X}|dF(x)|<\infty,$$

where

$$F(\omega) = \int_{0}^{\omega} \left(1 - \frac{x}{\omega}\right)^{\lambda} k(x) d\alpha(x).$$

When $\lambda = 0$, the required result reduces to

$$I = \int_{-\infty}^{X} |k(x)d\alpha(x)| = O(1),$$

as $X \to \infty$. Integration by parts gives

$$I = \int_{-X}^{X} \frac{|k(x)|}{x} |x d\alpha(x)|$$

$$= [O(x) \cdot k(x)/x]^{X} + O \int_{-X}^{X} x \left| \frac{k(x)}{x} - \frac{k(x)}{x^{2}} \right| dx$$

$$= O(1) + O \int_{-X}^{X} |k'(x)| dx + O \int_{-X}^{X} x^{-1} |k(x)| dx$$

$$= O(1),$$

using hypotheses (ii) and (iii).

For $\lambda > 0$, by Lemma 3,

$$\int_{-\infty}^{X} |dF(\omega)| = \int_{-\infty}^{X} \left| \sum_{p=1}^{h+3} I_{p}(\omega) \right| d\omega,$$

say, where

$$\begin{split} I_1(\omega) &= \lambda \omega^{-\lambda - 1} k(\omega) \overline{C}_{\lambda}(\omega), \\ I_2(\omega) &= A \omega^{-\lambda - 1} \int_0^\omega \overline{C}_{h+1}(t) \big\{ k(t) - k(\omega) \big\} (\omega - t)^{\lambda - h - 2} \, dt \\ I_{p+2}(\omega) &= A \omega^{-\lambda - 1} \int_0^\omega \overline{C}_{h+1}(t) (\omega - t)^{\lambda - h + p - 2} k^{(p)}(t) \, dt, \end{split}$$

 $p=1, 2, \ldots, h+1$; I_2 being zero when λ is an integer, A is a constant may be different at different places. It follows that it is sufficient to prove

(3.3.1)
$$\int_{-\infty}^{X} |I_p(\omega)| d\omega = O(1),$$

as $X \to \infty$, for each p = 1, 2, ..., h+3.

as $X \to \infty$.

Integrating by parts and making use of Lemma 3, we have

$$\int_{-\infty}^{X} |I_{1}(\omega)| d\omega = \lambda \int_{-\infty}^{X} \frac{|\overline{C}_{\lambda}(\omega)|}{\omega} \frac{|k(\omega)|}{\omega} d\omega$$

$$= \left[O(x) \cdot \frac{k(x)}{x} \right]_{-\infty}^{X} + O \int_{-\infty}^{X} \frac{|k(\omega)|}{\omega} d\omega + O \int_{-\infty}^{X} |k'(\omega)| d\omega$$

$$= O(1),$$
(3.3.2)

as $X \to \infty$, by hypotheses (ii) and (iii) and Lemma 1.

Now, we consider the integrals involving $I_{p+2}(\omega)$, where $p=1, 2, \ldots, h+1$.

$$\begin{split} \int^{X} |I_{p+2}(\omega)| d\omega &= A \int^{X} \omega^{-\lambda-1} d\omega | \int^{\omega} \overline{C}_{h+1}(t) (\omega - t)^{\lambda-h+p-2} k^{(p)}(t) dt | \\ &\leq A \int^{X} \omega^{-\lambda-1} d\omega \int^{\omega} |\overline{C}_{h+1}(t)| |k^{(p)}(t)| (\omega - t)^{\lambda-h+p-2} dt. \end{split}$$

Changing the order of integration we get

$$\begin{split} \int^{X} I_{p+2}(\omega) \, | \, d\omega & \leq A \int^{X} |\overline{C}_{h+1}(t)k^{(p)}(t) \, | \, dt \int_{t}^{\infty} \frac{(\omega - t)^{\lambda - h + p - 2}}{\omega^{\lambda + 1}} \, d\omega \\ & \leq A \int^{X} |\overline{C}_{h+1}(t)k^{(p)}(t) \, | \, t^{-h + p - 2} \, dt \\ & = A \int^{X} \frac{|\overline{C}_{h+1}(t)|}{t^{h+1}} t^{p-1} | \, k^{(p)}(t) \, | \, dt. \end{split}$$

By hypothesis (iii) or (iii'), according as λ is or is not an integer, and Lemmas 1 and 4.

$$\int_{-X}^{X} |I_{p+2}(\omega)| d\omega = [O(x)x^{p-1}k^{(p)}(x)]X + O\int_{-X}^{X} t^{p} |dk^{(p)}(t)| + O\int_{-X}^{X} t^{p-1} |k^{(p)}(t)| dt$$

$$= O(1),$$
(3.3.3)

(3.3.1), (3.3.2) and (3.3.3) show the Theorem to be true for an integer. When λ is not an integer, we have to consider one more integral involving $I_2(\omega)$. We obtain

$$\begin{split} &\int_{-X}^{X} |I_{2}(\omega)| d\omega \\ &= A \int_{-X}^{X} \omega^{-\lambda - 1} d\omega |\int_{-X}^{\omega} \overline{C}_{h+1}(t) \{k(t) - k(\omega)\} (\omega - t)^{\lambda - h - 2} dt | \\ &\leq A \int_{-X}^{X} \omega^{-\lambda - 1} d\omega |\int_{-X}^{\omega} |\overline{C}_{h+1}(t)| \frac{|k(t) - k(\omega)|}{\omega - t} (\omega - t)^{\lambda - h - 1} dt \\ &\leq \int_{-X}^{X} \omega^{-\lambda - 1} d\omega \int_{-X}^{\omega} |\overline{C}_{h+1}(t)| |k'(t)| (\omega - t)^{\lambda - h - 1} dt, \end{split}$$

by condition (iv). Changing the order of integration, using Lemma 1 and condition (iii'), we get

$$\begin{split} \int^{X} |I_{2}(\omega)| \, d\omega &< A \int^{X} |\overline{C}_{h+1}(t)| |k'(t)| \, dt \int_{t}^{\infty} \frac{(\omega - t)^{\lambda - h - 1}}{\omega^{\lambda + 1}} \, d\omega \\ &= O \int^{X} |\overline{C}_{h+1}(t)| |k'(t)| \, t^{-h - 1} \, dt \\ &= O \int^{X} |\overline{C}_{h+1}(t)/t^{h+1}| |k'(t)| \, dt \\ &= \left[O(x) \cdot k'(x) \right]^{X} + O \int^{X} t \, |dk'(t)| \\ &= O(1). \end{split}$$

This completes the proof of Theorem 1.

- 3.4. Proof of Theorem 2. Using Lemma 2, instead of Lemma 1, and Lemma 4 (ii), in place of Lemma 4 (i), Theorem 2 follows exactly by the procedure of the proof of Theorem 1.
 - 3.5. We now obtain the following theorems.

Theorem 3. If Σa_n be bounded $[R, \lambda, k]$ and $\phi(t)$ satisfies the same conditions as k(t) in Theorem 1 (for $\lambda_n = n$, $\phi(t)$ may satisfy the following conditions

(i)
$$\sum_{\infty}^{\infty} n^{-1} |\phi(n)| < \infty,$$

(ii)
$$\sum_{n=0}^{\infty} n^{1+k} |\Delta^{k+2} \phi(n)| < \infty,$$

where h is the greatest integer less than k, and when k is non-integral, also $| \Delta \phi(n) |$ is non-increasing), then the series $\sum a_n \phi(\lambda_n)$ is summable $|R, \lambda, k|$, for $k \ge 0$.

Theorem 4. If

$$\Sigma a_{\bullet} = O\{\chi(n)\} [R, \lambda, k],$$

where $\chi(n) \to \infty$ with n, and $\chi(t)$, $\phi(t)$ satisfy the same conditions as $\chi(t)$, $\chi(t)$ in Theorem 2 (for $\chi = n$, $\chi(t)$ and $\chi(t)$ may be such that

$$\Delta \chi(n) = O\{\chi(n) \cdot n^{-1}\},\,$$

and the sequence $\{\phi(n)\}$ satisfies

(i)
$$\sum_{n=1}^{\infty} n^{-1} |\chi(n)\phi(n)| < \infty,$$

(ii)
$$\sum_{n=0}^{\infty} n^{1+k} |\chi(n) \triangle^{k+2} \phi(n)| < \infty,$$

where h is the greatest integer less than k, and when k is non-integral $| \Delta \phi(n) |$ is non-increasing), then the series $\Sigma a_n \phi(\lambda_n)$ is summable $| R, \lambda, k |$, k > 0.

Theorem 5. If Σa_n is bounded $[R, \lambda, k]$, then $\Sigma a_n \lambda_n^{-k-\epsilon}$, where $\epsilon > 0$, is summable $[R, \mu, k]$, where $\mu_n = \exp(\lambda_n)$. The factor $(\lambda_n)^{-k-\epsilon}$ may, also, be replaced by $\phi(\lambda_n)/(\lambda_n)^k$, where $\{\phi(t)\}$ satisfies the conditions of Theorem 3.

Theorems 3 and 4 follow directly from Theorems 1 and 2. Theorem 5 is obtained from Theorem 3 by an application of a Theorem due to Tatchell (1954), which we state below as a Lemma.

Lemma 5. If Σa_n is summable $|R, \lambda, k|$, then $\Sigma a_n \lambda_n^{-k}$ is summable $|R, \mu, k|$, where $\mu_n = \exp(\lambda_n)$, k > 0.

3.6. It may be pointed out that, as is evident from the proof of Theorem 1 given, the hypothesis in Theorems 3, 4 and 5 concerning the boundedness $[R, \lambda, k]$ of the series Σa_n can be replaced by less restrictive conditions of boundedness $[R, \lambda, k+1]$ of the sequence $\{\lambda_n a_n\}$, $-(R, \lambda, k)$ mean of the sequence $\{\lambda_n a_n\}$ is supposed to be given by

$$\sum_{\lambda_n < \omega} (\omega - \lambda_n)^{k-1} \lambda_n a_n.$$

It may also be observed here that in case $\phi(n)$ is a logarithmico exponential function of n, or simply an L-function, the conditions on $\phi(n)$ in the preceding Theorems 3 and 5 reduce to the single condition of convergence of $\Sigma n^{-1} \phi(n)$. This follows immediately from the Lemma given below.

Lemma 6. If $\Sigma n^{-1}\phi(n)$ is convergent and $\phi(n)$ is an L-function of n, then

$$n^r \triangle r \phi(n) \rightarrow 0$$
,

and

$$\Sigma n^r \mid \Delta^{r+1} \phi(n) \mid$$

is convergent.

Proof of Lemma 6. Since $\phi(n)$ is an L-function, $\Delta^r \phi(n)$ is monotonic for all values of r from a certain value of n onwards, we may take $\Delta^r \phi(n)$ to be monotonic for all values of n, and hence the convergence of

$$\Sigma n^r \mid \Delta^{r+1} \phi(n) \mid$$

reduces to the convergence of

$$\sum n^r \triangle^{r+1} \phi(n)$$
.

We suppose that the required result is true for r = k, that is

$$n^k \Delta^k \phi(n) \to 0$$
,

and the series

$$\Sigma n^k \Delta^{k+1} \phi(n)$$

is convergent. Now since the terms of the convergent series have the same sign

$$n^{k+1} \Delta^{k+1} \phi(n) \rightarrow 0$$

as $n \to \infty$. Also

$$\sum_{n=1}^{N} n^{k+1} \Delta^{k+2} \phi(n) = \sum_{n=1}^{N} n^{k+1} \{ \Delta^{k+1} \phi(n) - \Delta^{k+1} \phi(n+1) \}$$

$$= \sum_{n=1}^{N} \Delta^{k+1} \phi(n) \{ n^{k+1} - (n-1)^{k+1} \}$$

$$-N^{k+1} \Delta^{k+1} \phi(N+1)$$

$$\sim n^{k} \Delta^{k+1} \phi(n) - (N+1)^{k+1} \Delta^{k+1} \phi(N+1).$$

Therefore

$$\sum n^{k+1} \Delta^{k+2} \phi(n)$$

is convergent. That the required result is true for k=0 follows from the convergence of $\Sigma n^{-1}\phi(n)$.

And this completes the proof of the Lemma.

Further, if $\chi(n)$ be also supposed to be an L-function, then the conditions of Theorem 4 reduce to the single condition that $\sum n^{-1}\chi(n)\phi(n)$ is convergent.

ACKNOWLEDGEMENT

The authoress takes this opportunity to express her gratitude to Dr. B. N. Prasad for his kind help and guidance in the preparation of this paper.

REFERENCES

On the absolute summability of Stieltjes integrals. Journ. Lond. Math. Soc., Borwein, D. (1954). 29, 476-486.

Bosanquet, L. S. (1947). On convergence and summability factors in a Dirichlet's series.

Journ. Lond. Math. Soc., 22, 190-195.

-(1948). On convergence and summability factors in a Dirichlet's series II. Journ.

Lond. Math. Soc., 23, 35-38.

Boyd, A. V., and Hyslop, J. M. (1952). A definition for strong Rieszian summability and its relationship to strong Cesaro's summability. Proc. Glasgow Math. Assen., 1, 34-39. Hardy, G. H. (1949). Divergent Series, Oxford.

Hyslop, J. M. (1936). On the absolute summability of series by Rieszian means. Proc. Edinburgh Math. Soc. (2), 5, 46-54.

Kogbetliantz, E. (1925). Sur les séries absolument sommables par la méthode des moyennes arithmétiques. Bulletin des Sciences Mathematiques, 49, 234-256.

Pati, T. (1954). The summability factors of infinite series. Duke Math. Journ., 21, 271-283. Srivastava, P. (1957). On strong Rieszian summability of infinite series. PNISIPS, 23, 58-71. Tatchell, J. B. (1954). A theorem on absolute Riesz summability. Journ. Lond. Math. Soc., **29**, **4**9–59.

Widder, D. V. (1941). The Laplace Transform, Princeton. Winn, C. E. (1933). On strong summability for any positive order. Math. Zeit., 37, 481-492.